
 

•	
  Chez	
  Olympe,	
  éleveuse	
  de	
  poules	
   	
   	
   	
   	
   [_______	
  /6]	
  
Olympe	
  possède	
  34	
  poules	
  pondeuses.	
  Elle	
  sait	
  qu’une	
  poule	
  peut	
  pondre	
  

272	
  œufs	
  par	
  an.	
  Combien	
  Olympe	
  peut-­‐elle	
  espérer	
  ramasser	
  d’œufs	
  en	
  une	
  année	
  ?	
  
 

Solut ions      Opérat ions 	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
	
  

•	
  Shopping	
   	
   	
   	
   	
   	
   	
   	
   	
   [_______	
  /8]	
  
Céline	
  retire	
  au	
  distributeur	
  de	
  la	
  banque	
  deux	
  billets	
  de	
  100	
  €.	
  Avec	
  cet	
  argent,	
  elle	
  s’achète	
  

un	
  pantalon	
  à	
  39€,	
  une	
  jupe	
  à	
  40	
  €	
  et	
  deux	
  chemisiers	
  à	
  27€	
  chacun.	
  
	
   Quelle	
  somme	
  d’argent	
  lui	
  reste-­‐t-­‐il	
  ?	
  
 

Solut ions      Opérat ions 	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  

	
  
•	
  Voyages	
   	
   	
   	
   	
   	
   	
   	
   	
   [_______	
  /6]	
  	
  

Paul	
  va	
  souvent	
  à	
  Strasbourg	
  en	
  voiture.	
  A	
  chaque	
  voyage	
  il	
  dépense	
  85	
  €	
  pour	
  l’essence.	
  
Cet	
  hiver,	
  il	
  a	
  fait	
  13	
  voyages	
  à	
  Strasbourg.	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Combien	
  a-­‐t-­‐il	
  dépensé	
  pour	
  l’essence	
  ?	
  
	
  

 

Solut ions      Opérat ions 	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  
……………………………………………………………………………………………………………………….…..	
  

	
  EVALUATION	
  PROBLEME	
  CM	
  
Nom	
  :	
  …………………………….	
  
Date	
  :	
  …………………………….	
  
 

NOTE	
  : 



	
  	
  	
  ……………………………………………………………………………………………………………………….…..	
  


